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Yabanci Uyruklu Odrenci Sinay,

1. Bu testte 80 soru vardir. T——
This test contains 80 questions,
2. Cevaplannizi, cevap kdgidinin YOS

Testl
Mark your answers on YOS exam pa I¢in ayn|

rt of lhe Answeran kismina Isaretleyiniz,

\\‘

IS
Ys TESTIﬁ-
Gellgim Oniversitesl

\She
o [s+{e-gh(t-3){s-2]= R CANTENE
o 3 . 3\33) -
e _§_ ) 1 R
N5 ® =5 c-1 & (3 b
, D)-5 E) -6 = J
. ‘ : o) ( > )
1 § A3 B)3® C)3’ D)3* E)3"
\ 2
°
3
o]
Q
£ Q3
2. (1-1)(1-1)(1-1 AN | 2 W=,
=715 "7 26 [fowr T _a SRR PEE
SRR z 125%~2 g
S =2 -5
2 = X=7 5‘)7L
A) 25 B) 30 C)35 °
1 2 4 5 i
D) 40 E) 45 = A)s' B3 O3 D3 By
5
©
Q
£
z
(o)
2
s
7 fx Ea \Gk‘( L“G /
3. 7 7 =9 _ . = #*_ 1 N2 —
X'=1 x7V-1 A A - V3-2 J/3+2 AL
4 7S é
A) -14 B) -7 C) -1 ; A) -3y/3 -2/3 C)-2
D) 7 E) 14 @ D) 2/3 E) 3/3
o)
2
S
\ S
e
AR A\
(U\ U\> -77,'7)7\ .
‘ (W) 5
0,036 1 _ 1 -1 = 702 9%
4'( ) () 98 a_c_ g
0,009 64 & b-g= e :@2\
= x=? L ’q;/( @ 3a+6c=90=
’/‘N £ & b+ad=27
1 1 3 4 3
A)-— B)1 005 D% EF2 =
¢ £ 2 3 £ A10 B)15 C)2O D25  E)30
}\? v 134
24 = /
3 Digier sayfaya geginiz.
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X Gz*n A * )>{
’ ' 5 g N 12. ae 2,
.3 X N _
i e 2x+(a-3)y+4=0
=°\/57+,f1_2§_:? B
27y — v 20X £ ax+5y-4=0
=
A1 B) 0 C)-5 gﬁ CK=g=a="?
D) -7 E) -11 §
A) 0 B)1 C)2 D)3 E)5
(]
=
ki
£
i)
o
o
2
3
2
(]
10. nl=1-2:3-. :é
_2(n_2L _ o . \
[(n+1)! 3(n') -1)=7 £ 93, (X+g/) 3xy x+x32/
%) X -y xX2—y
)
‘ il n-1 n+t+1 @
| &) 5= B) 1 Ol 2 Axay 5 1 o1
' D) 22— E)—M 2 X X—y
| n+1 n—1 2 D) x E)y
o
5
ks
£
\‘\ =i
&
2
2
2
E
1 K|L LM ©
- Ja -5 £
5 2 2 14, y-x=5
Q
= X+3z=2
K+L+M=15 _, 3
- 2M § = x2-3yz-xy+3xz="7
A)-10 B) -5 C)7

C)10 D)9  E)8
Ap13  B12 C) D) 10 E) 25

- —
4—L Diger sayfaya geginiz.
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15. tR—R 1. Az Bxp

\%
f(x) = 3x -~ 2 = _ S(AUB) = 4‘5(‘\,“ B) = 3s(A)
f(a+1)—f(a)—4=f(4)+f(a) :é s(B)=22=>S(B\A)=?
_a=? g A3 B8 C16 D18 E20
%
A-1 B-2 €3 D-4 E-5 g’ '/
2
g
©
.E \ "2)5‘3“/{
3
IR Y
2 oanag 23 e 9EU
g’ = =9 +2Y
16. tR—R § 19. () + ()2 + () + () + - +(-|)98"’
a,be?Z (7
° W7
f(x)=ax+b, A)—i+1 B)i-1 C)0 ¢
f(x) + (fof)(x) = 6x — 11 = D) 1-i E)1+i @
—f(4)=? g
E Zoqo AN =120
A7 B)19 C)21 D)23  E)25 o
) 2 2%~ {n =97-3N
2
2 : 5M :
(]
2
ge]
0
E
17. S, 20. dP(0-QVA] =9
:  Jem
I T
=>d[P(x) QX)) =2
[}
2 g N3 B4 C6 D7 E)B
< : L aQ
/—3/-2—1 2 34 E
6 Y @)
v o 3
f2)+9@)+g"(4) _, 3
f(—1)+£71(0) 2
A5 B)4 C)3 D)2 E) 1
5 Diger sayfaya geginiz.
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A1 oud iyt Byl 2
21. X8 —8x*+ 2x2 +x+5 XQ(X)X 2. jim (1og,81°" %) = 32
- X -
ax+b 5
.3 =a="?
Q
=ax+b=7? E
2 A3 B4 05 D6 g7
A)5(x + 1) B) 3(x + 1) C)x+5 g’
D) (x+3)3 E)3x+5 §
°
3
!
Q
E
=
o)
3
2
2
(]
3 limf(x) =7 M £3
22, log,31! = m = log,32! = ? 3 250 W=
Pedl 32! =7 g i A AT _ g
X—4
A) 32m B)32+m c)5m O
D)m—5 E)5+m 3 A)243 B)81 C)64 D)27 E)16
2
2
(]
35
o
q
E
2
o
2
3
2
(]
5 26. f(x)={x2—ax+6, x22
23. a=log,60 b=log,22 c=logs100 _g x®—5x+8, x<2
[«F]
- —cl-lb-cl=? :
la-=bl+la-cl-Ilb-cl g ,'(ilnzf(x)=b=
@ atb=7?
A) 2a B) 0 §
C)2a+2c D) 2b + 2¢ 3
E) 2c A)2 B) 6 C)8 D) 10 E) 12
- 6 Diger sayfaya geginiz.
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C
27. D—
rd N s
/ =
o
4
E
]
T
B 2
A :
ABCD dikddrtgeni boyutlar esit 7 dikdortgenden
olugmustur. .
Buna gore tan o = ? 5
ABCD is a rectangle that is consist of 7 equal size 3
of rectangle. What istana ? _E
(%)
T
1 g8 ¢ p& i I
A3 5 7 7 6 g
2
(]
=
>
e
Y
£
2 31, nAN (Nis set of natural numbers)
[
(@)
2. ¢ 3 qtn+3 4 12% 4 4 = ? (mod 5)
[ (x)-3)-dx=7= §
* 2
3
[ (ex=f(x+2)dx="? R A0  B)1 C)2 D)3 E) 4
0 3
2 r [
g
A-7 B-5 C©C-4 DO E) 6 e
Kz
o
o
2
2
3
(]
29. f(x)={ 4x+1, x=23 2 32, x+y=5(mod?)
3x?—4x, x<3 '8 )
g 3x -y =3 (mod7)
i 2 X -y =? (mod7)
= [f(9dx=7? o}
1 3
§ A) 2 B) 3 C)4 D) 5 E)6
A)67 B)60 C)70 D79 E)81
7 Diger sayfaya geginiz.
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33. z|Re(2)| = -25 + 60i 36. x < [0, 3n)

=lz1=? 2c0s’x + cosx-3=0

A4 B)13 )12 D10 E)9

www.gelisim.edu.tr

www.gelisim.edu.tr
=
N

37.
34. x®+(@a-5)x+b=0 SS={x,—2} * A
X¥—=(b+2)x+c=0 SS={x, -3} *3
=a+b=? -8 -« = —>X
£ =
R
M2 BT ©0 D-1 E-2 &
2
3
2 -3
°
=
= Y
Q
£
2 Sekilde verilen karmasik sayi asagida verilen
o) denklemlerden hangisinin ¢6ziim kiimesidir?
2
2
3 Which of the following is a solution set of
g complex numbers shown on the figure?
*§ A)lz+1-3i|=2 B)|z-1+2i|=2
35. sinx + siny = /3 0 C)lz+2-3i|=2 D) |z-2+3i| =2
cosx + cosy = 1 E E)|z-3-2i|=2
no 2 |
—cos(x-y)=? (@, \x 3 g, |
% |
1 1 |
A-1 B0 Oz D3 BN g
et . N —
8 Diger sayfaya geginiz.
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47 At = . e ——i
38. A :[3 57 AtAT=1 41. ve 42. sorularda |. gruptaki sdzliik-
lerin harfleri birer rakamla gosterilmis |
A) [5 4 B) l*1 14] b II. gruptaki sayilar elde edilmigtir. Soru \
34 6 1 3 Isareti ile belirtilen s6zctgtin hangi sayly- |
Q la gdsterildi ; ‘
90 5 i B £ gosterildigini bulunuz w
oo o 58 IV
E) IO 1 ) In questions 41 and 42 the numbers in group Il
> stand for the words in group | when each letter
§ has been coded with a specifi numeral. Find
the number which corresponds to the word in-
° dicated by the question mark.
5
°
Q
£
n
T
2
3
3
2
L]
| 5 41 ; U
123 [8-2-3 x - 3 KARE
[4 2 1] le 3 0 ] : y] g ASIR 1256 3289
502 . = KATI 7212 2495
p= MAYA
_ < 3256
x+y=? (o) YARE
g ASIR=?
A)-10 B) -6 C)o S
D) 10 E) 20 A) 1256 B) 2495 C) 3256
°
_ D) 3289 E) 7212
3
o
Q
E
2
T
o
2
3
2
40. {0, 1, 2, 3, 4, 5} kiimesinin elemanlar kullanila- "
rak lic basamakli, rakamlari farkl kag ¢ift do- 42 . Il.
gal say1 yazilabilir? = ' ORUG
2 ;&'ﬁi 2756 8626
How many different 3 digit numbers can be ¢ KORU 9137 1378
written by using the elements of set {0, 1,2,3, @ QAJZ:.’A ad
4, 5} providing that the numbers are even nat- & Y
ural numbers and different from each other? g KORU =2
2
2481 C) 2756
A)48 B)52 C)60 D)64  E)68 A) 1378 B)
D) 8626 E) 9137
9 Diger sayfaya geginiz.
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lerin gekilleri birer raka
I. g

gbsten‘ldigini buluan.

In question
Il stand for t

numeral
to the set of the figures indicated by question
mark.
. Il.
43. (o m 818
+ @ 473
om ﬁ- 371
¢ 0 ( 718
7ol + |+ 843
0om="
A) 314 B) 341 C) 731
D) 741 E) 871
44. " l. Il.
* O L'
(o) j : % Ehea 2436
i y 4276 7647
: % ? 4372
Py \ N L < \
“/C) »2 é%=7 b
A) 2436 B) 3624 C) 4276
D) 4372 E) 7644

mla gosterilerek
ruptaki sayilar elde edilmistir. Soru

) { 4. sonilarda 1. gruptaki kime-
igareti ile belirtilen kimenin hangi sayyla

s 43 and 44, the numbers In group
he sets of figures in group |, when
each figure has been coded with a specific
find the number which corresponds

e www.gelisimedutr e wwwgelisimedutr e www.gelisimedutr e www.gelisim.edu.tr

www.gelisim.edu.tr
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45 ve 46. sorular agagidaki tabloya gére ¢q.
vaplayiniz.

Answer questions 45 and 46. In accordance
with the table glven below.

m(O O™ | > @A

Ol mim|O|>

OO m|>» @O
m ™| O O|>» |0

>ImMmO|(m O|m

(O[> O m @

Tabloda H isleminin gorevi belirlenmistir.

The operation of H is established in the table.

Ornekler (Examples)

AEB=E
BEC=A

C

45. (C BE) B (AED)=?

coc DD FEE

c)C D)D E)VE

A)A B)B
C
It} fDL
46. (AmC)E(XBE)=B
x=7?
A) A B) B

10

Diger sayfaya geginiz.
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YOS J
a?2-aba<b

47.1. a¥b=15_3pas>b
‘\-‘ﬂ? \

48.

I (¥ eI
L esltiikte ¥ isleminin gdrevi belirlenmigtir,

Buna gore, Il. esitiikte soru Igaretinin yerine
asagidakilerden hangisi gelmelidir?

WA =l
To equation I, the operation of ¥ Is estab-
lished. According to this operation, which of
the following does the question mark stand for

in equation .2

A) 8 B) 6 C)2 D)-16 E) -34
1,1
. ¥Yb=—+—
. a¥b a+b
. axb=ab-b
T 8
M. @v7)*28=2 q/g'% 4

Ive I, esitliklerde ¥ ve * iglemlerinin gérevieri
belirlenmistir. Buna gére, lll. esitlikte soru isa-
retinin yerine agagidakilerden hangisi gelmeli-
dir?

In equations | and Il the operations of ¥ and
* are established. According to these opera-
tions, which of the following does the question
mark stand for in equation lI?

A)20 B)18 C)-17

D)-21 E)-24

Geligim Onlversitesl J

49, DE————
+|alb|c
3 a 3b
o = e it
b b |19
£ e Sosond] S| SECSS
g7 c 36 L
= Wl ! (Dol e
o)
3 Yukaridaki toplama tablosunda 2, b ve ¢ harf-
§ lerl pozitif birer sayinin yerine kullaniimigtir.
Buna gére b kagtir?
[ ] .
= In the addition table above, the letters a, b and
3 ¢ each stand for a positive number. According-
“EJ. ly, what is the value of b?
a
g A) 4 B) 8 c) 1 D) 17 E) 25
2 \
S Axte=3°
. =\
® \D »-3%&’ 7
E L PR b
| :
. /
g (A\D ~-C = N7
2 ¢ oz=nb
o
g 5%z55
A
.@0/ X a b c Yandaki garpma ve
’ toplama tablosun-
*g a da a, b, ¢ harfleri
o b 7b pozitif birer sayinin
E yerine kullaniimig-
K tir. Buna géreb="?
% + a b c
2 In the multiplica-
§ a 6c+1 tion and addition
tables above, the
° b 23—3 letters a, b and ¢
o each stand for a
= positive number. Accordingly, what is the val-
5 ueofb=7?
E
2 mN7 B3 O D27 E30
o
z
=

-

Diger sayfaya geginiz.
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51. sy L 5 53. x=4, y=7,  z=10
= x=7, y=16, z=16
S
N 3 X=-2, y=-11, z=-2
IR o
g X lle y, x lle z arasinda bir iligki vardir. Buna
@ gore,
@
Asagida verilen sekillerden hanglsi seklin g’ TTtehl'e is a relationship of x with y and and x
dondirilmis halidir? g With z so,

X=1=y+z=7?
Which is the rotated form of the shape?

(]
e A) -6 B) -4 C)2 D)6 E)8
A) 1B S
b5
N 4 .
N/ /\\ )= 54 - 55. sorularda her harf birbirinden farkli bir
o % sekle kargilik gelmektedir.
o
3
C) D) 2 In questions 54-55 there is a different symbol
E | T 2 to reprepsen each other.
z&_b_ °
S v _ 94, tleja|y|m|c]|o
<& e
= B2 @Al m|
E) Q
EE £ 'NESERE-IRERTYIN
2 tlo| 2| Ald|t|@
o)
> 2 ARALICIRAR AP
§ © Al H i Al
- fm|lA|2|e|m|2
s | \ Il
=)
3 [ K[L]k] K | K
£ K M [N
5
g I ve Il. yukaridaki tablonun farkli birer pargasidir.
52. 4 5 g Buna gére Il deki M ve N nin yerine agagidaki-
S lerden hangisi gelmelidir?
2|3
° I 'and Il are different parts of the figure above.
5 - Accordingly, which of the following combinati-
15 A = ons should replace M and N'in 11?
kS
Yukarida verilen gekle gére A kagtir? § M N
@ A % o
According to the figure above, what is the va|- § B) * °
ue of A? P C) t A
D m A
By14 C)16 D)18 E)21
A) 12 ) B a 3
14 Diger sayfaya geginiz.

i i 7 Scanned by CamScanner
sUcgs@ uniland.ir



55. E’— L 2 Q [] |~.‘
’\’ H| | @) D)
AALALILAR AR KA 3
o/ ||+ |mlo|e b
ADQ.O‘:Q)\ %
¢ (D|e|O@| x| @ %
NN ] 3
(rrjejrjejrije g
/ 2
e I

2 SEd ao
B C|A .
8la AE E
A 0 8
1. ve Il yukandaki tablonun farkli birer parcasi- g
dir. Buna gdre, Il deki C ve D'nin yerine agagi- :=
dakilerden hangisi gelmelidir? )
2
1. and Il. are different parts of the above table. §

Which one of the following must be replaced
byCandDinll? °
c D =
A) | ) -8.
A u E
A
C) e ) g
D S | ]
) 2
E) ] ) 2
2

56.

B+ + + =7 Z
i®
Y
E
]
I
o
:
A) B) g
o
E
o
v
£
2
o
o
:
15

suegs@ uniland.ir
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57. Q+ 4 +7=?

A)

E)

D)

Diger sayfaya geginiz.
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58 - 60. sorulan agagidakl gekle gore cevapla- 59,

yiniz.
E
o
4
E
N
8" K=17
:
Yukandaki gekil a, b, ¢ ve d harfleri ile gosterilen 2 Yukarida verilen gekle gbre K kagtir?
dort pozitif tam sayly! igeren bazi iglemlere gdre
duzenlenmistir. Harflerin gosterdidi sayilar her o
soruda farkli olabilir. Fakat, bunlarla yapilacak ig- Acc‘:’:’"%to the figure above, what Is the val.
= =
lemler her soruda aynidir. 3 MBI
The figure above has been organized according “é A) 10 B) 12 C) 14 D) 17 E) 20
to various operations using four opsitive integers G
represented by the letters &, b, ¢ and d. The inte- g \ o .C o< _ﬁ? \
gers represented by the letters may change from 3 Gl - {' = 0 xC
question, but the operations to be done remain g o \\<
the same. R e S
— K i = I
° cC / 14 ﬁ/a\’a' ‘/\-Q '
e} | wo Z A
5 Y-y
—_— U\ -
|- w30
£ ¢ ! 5
2 ! —-% =0
: e
s - ' -\
2 0 P _
[
58. ’eo 60.
ANV -
8
: E
K%
T
g K+L=?
=?
Yukarida verilen sekle gore K + L kagtir?
Yukanida verilen sekle gére L =? °
5 According to the figure above, what is the val-
According to the figure above, what is the val- =5 ueof K+L=7?
ueofL="? -8
§ A) 15 B) 14 C) 12 D)9 E)8
A)15 B)18 C)20 D)24 E)30 T v N
D') \.
2 (ol
: g v ¢
\O = G C
<)
0\
L. v
90
\ 16 Diger sayfaya geginiz.
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61 ve 63 sorulan drnekte verilen iligkiye gére 62 |
cevaplayiniz: |
. W@
stions 61 - 63. find the correct answer in pr
In queé . 3 | . B
accordance with the relationship established ¥ (C)m___ ﬁ’ .
in the example below. :g C \\ o)
= . \
Armek: = - -
Orne g\ @)‘@
Example: 2 k=2 y=19)
3 - 0l |
Q. @ o Il. sekilde x ve y nin yerine gelmes! gereken
T harfleri bulunuz.
/P } -8 Find the letters that correspond to X andyin
L Figure Il.
£
vy
T X y
o)
2 A D A
K, L, M, N ve P harfleri |. sekildeki baglanti sa- S B © 5
yolar ve birbirine baglanan harfler dedisme- o 5 :
mek kosuluyla Il. sekil elde edilmistir. 5 . X
E) B A

Letters K, L, M, N and P are linked as in Figure
1. Figure Il has been constructed so as not to
change which letters are linked to which, and
the number of links made with each letter, in

ww.gelisim.edu.tr

Figure I

61.

®)

Q—0
e
_,

E G"
(W) Z |
s = ¥
: T
®) 2
§ II. sekilde x ve y nin yerine gelmesi gereken
x=1? y="? 2 harfleri bulunuz.
II. sekilde x ve y nin yerine gelmesi gereken harf- _
Ierisbulunuz yony ° ° Find the letters that correspond to X andyin
i = . Figure Il.
Find the letters that correspond to X and y in Figu- -3
rell. g X y
4 Y G A N L
[
A) L P ? B) N M
B) K N § o) L K
% N P D) K T
D) K L E) . L
E) R N
17 Diger saylaya geginiz.
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Yukaridaki terazilerin ti¢ii de dengede oldugu-
na gére ll. terazide soru igareti agagidakiler-
den hangisini géstermektedir.

All these scales above are in balance. Accord-
ingly, which of the following does the question
mark stand for in the third scale?

7 T\
AAA®

77 )
B) AN
17N

D)AAAx

8 —

T

C)AA
AR
E) A A%

I

suegs@ uniland.ir

Geligim Unlve@

85. | /
=
=]
o
q .
E
2
% Il.
2
3
3
o
s
=
'8 M.
E
0
K]
o)
3
3
3
° Yukaridaki terazilerin ii¢ii de dengede oldugu-
= na goére lll. terazide soru isareti asagidakiler-
_g den hangisini géstermektedir.
Q
= -
@ All these scales above are in balance. Accord-
o ingly, which of the following does the question
2 - mark stand for in the third scale?
; .
2

AmEme B)AAA cmee
°

D)AN E)AAN

=
=}
o
9
E
0
T
o
2
2
2
°
s
3
|
Q
£
K4
U
o
:
18 Diger sayfaya geginiz.
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67.
7 + 2a 2h X 38 3b
8 | 2 3 243
3
-Z . 2h 3!7
oni : 2 Yu losund
yukanidaki sekil saat yéniinde 270° déndiiriil- © ha;lirrlidaki _tt?fptl)e'ama ve g;arpn;:zi ntzbkzﬁaml; la;txllre b
diigiinde agagidakllerden hanglsi elde edilir? ? pozitif birer sayinin'y ,
2 Bunagérea="?
o 2
When the shape above is rotated 270° clock-
wise which shape is obtained? ° In the addition multiplication tables above, the
- letters a and beach stand of b positive num-
B) = ber. Accerdinply what is the value of a?
e 'g
E Mme g5 ©4 D3 B2
wv
\4 o) |
* §" A @ \2 ‘
§ 2 S o\ = 5

A
C)
va o )
2
5,24 20 5 b
v | b =3 =5
Qa u
£ -
Z EA 02
5
: 3
2 =
g T
2
°
3
S
Q
E -
2 o=
z 68. A .
2\ x | a B
2 o C AN
' ° 4 b o o [\C
= b | 81c C }D:\A‘?C‘
3 y
(] Cc 49a n. r\)\;)
= — oo
< abceZ* a 900L . <
' RN :
g =a+b+c=? H\C 0 Q\Cq
2 oE
A8t B)79 €63 D57 E)45
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69. 1 ve ll ile verilen iliskiye gdre lll. satin hangi
sekil tamamlar.

According to the relationship given in | and Il
which shape completes the row m?

s

]

F
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70. "\ /\
/| \
s < DD
EREN N N v 74 L
g \\\.’,v/ \\.//// \/
2 1. 2 3. a,
%
3 Yukandaki gekiller belirli bir kurala gére
3 dizilmigtir. Buna gdre 4. sekil agagidakilerden
3 ;
hangisidir?
°
The above figures are arranged according to
‘g a certain rule. Which is the 4. figure?
S
v
£ A) B) z z:
=0
o
UJ -
; L]
3
3 C) D)
°

° °
5 E)
Q
£
2
T
o)
s
2
2

71.
o ; i t

|
; + = +?
O ;
g
£
2 Soru igareti yerine hangi sekil gelmelidir?
> Which one should come up instead of the qu-
g estion mark?
2
o N /_/ B)
ER
2 [c
2
T
o)
2 v
s E) A
2
\]
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X=21=y="?

B)65 C)68

A) 63
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73. Asagidakilerden hangisi digerlerinden farklidir?

\J

Which of the following is different from the ot-

hers?

l/’/
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o
1
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76 - 77. sorulan drnektekl lligklye gdre cevap-
layahm.

|
Answer questions 76 and 77 according to the _g
relationship in the example né
% ;
E |
Q
3
_) x 3 § «
ABCD yamuk,
° ABCD trapezoud
_ s(ADC)=60° s(BCD)=45° = x=?
E
NGENE B)6v2 0)44/3 D)6V3 E)6
2
v 4 o
6. 79. A
(]
IABI=17 cm
s IADI=17 cm '~
3 7/ IDCl=4cm 7
= : BDI=16cm 7
:z Y ) -~
§ B 916 2D 4 C W,
A)13  B)14 ()15 D)16\E)24 S - anBio)=? //?’%7}
°  A)100 B)120 C)136 D) 144 5)150,‘7%5,
5 b
2 e
g s
£
o
2
3
2
[ ]
X ? s
= A
]
£ ABCD paralelkenar,
A)16  B)17 C)18 D)19  E)20 g ABOD ombor,
' o [BEIN[AF] ={K]}
g IBKI=20 cm
§ = IEKI=x=?
A3 B4 C5 DE E7
22
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